
 

Literal Equations and Formulas 

Directions: Solve each equation for the variable given. Use your answer to navigate through the maze. Show your 

work. 

 

𝟐𝒙𝒚 − 𝒚𝒛 = 𝟖;   𝒛  

𝒛 =
𝒙𝒚 − 𝟖

𝟐𝒚
 

 

𝟏𝟐 + 𝒙

𝟒
=

𝒚 − 𝒙

𝟐
; 𝒙 

𝒛 =
𝟐𝒙𝒚 − 𝟖

𝒚
 

𝒙

𝟐
− 𝒚 = 𝟐𝒚; 

 𝒚 = 𝟑 
 

𝒙 = 𝟒𝒚 + 𝟏𝟑 

𝒚

𝟐
= −𝟐𝒙 + 𝒚; 

𝒚 = −𝟐 
 

𝒂 =
𝟐𝒄 − 𝟑

𝟒
 

 𝒙 = 𝟔 

𝟐𝒙 − 𝟐 = 𝟑𝒚 + 𝟓; 

𝒚 = −𝟏 
 

𝟒𝒂 = 𝟐𝒄 − 𝟑;  𝒂 

𝒙 = 𝟓𝒚 + 𝟏𝟖 

 

𝒙 + 𝒙𝒚 = 𝟏 − 𝒚; 

𝒚 = 𝟐 

 
𝒙 = 𝟏 

𝒙 = 𝟑𝒚 − 𝟏𝟖 

 

−𝟒𝒚 = −𝟐𝒙 + 𝟖; 

𝒚 = 𝟏 

−𝟐𝒙 + 𝟑𝒚𝒙 = 𝟒;  𝒙 

𝒙 =
𝟒

−𝟐 + 𝟑𝒚
 

𝟐𝒚 +
𝟏𝟎

𝒙
= 𝒚 

𝒚 = 𝟓 

 

𝒙 + 𝟐

𝒚 + 𝟒
= 𝟓; 𝒙 

𝒙 =
−𝟐 + 𝟑𝒚

𝟒
 

 

𝒙 = 𝟓𝒚 − 𝟏𝟖 

𝟔𝒙 − 𝟓

𝟐
= 𝟑𝒚;  𝒙 

 

𝒚 −
𝒙

𝟒
=

𝒙 + 𝟓

𝟐
; 𝒙 𝒙 − 𝟓

𝒚 + 𝟐
= 𝟒; 𝒙 

 𝒙 =
𝟒𝒚 − 𝟑

𝟏𝟎
 

 

𝟐𝒙 + 𝟒

𝟐
= 𝟐𝒚;  𝒙 

𝒙 =
𝟐𝒚 − 𝟏𝟐

𝟔
 

𝒂 =
𝟐𝒄 − 𝟒

𝟑
 

 

𝒙 =
𝟔𝒚 + 𝟓

𝟔
 

 

𝒙 =
−𝟏

𝟐
 

 

𝒙 =
𝟒𝒚 − 𝟏𝟎

𝟑
 𝒙 = −𝟐 

𝒙 = −
𝟏

𝟑
 

𝒙 =
𝟐𝒚 − 𝟏𝟐

𝟑
 

 

𝒙 = −𝟐 

𝒙 = 𝟐 

𝒙 =
𝟔𝒚 + 𝟓

𝟔
 

 

𝒙 =
𝟏

𝟐
 


